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Estimating Multiplication w/Decimals Name:
Use the decimal placement to estimate the product. Answers
1) 6.214x04=
A. 2.4856 B. 24.8560 C. 248.5600 .0.2486 L
2.
2) 0.66x6.3=
A. 41.580 B. 415.800 C.0.042 .4.158 3
3) 5.3x2617= 4,
A.13.8701 B. 1,387.0100 C. 1.3870 . 138.7010
5.
4) 238x04=
A.0.952 B. 95.200 C.0.095 .0.010 6.
7.
5) 0.854x5.35=
A. 0.45689 B. 45.68900 C. 4.56890 . 0.04569 8
6) 3.65x0.591= 9.
A. 0.02157 B. 0.21572 C. 2.15715 . 21.57150
10.
7) 419%x2873=
A. 12.03787 B. 1.20379 C. 0.12038 . 120.37870 L.
12.
8) 7.457x9.8=
A.0.7308 B. 7.3079 C. 73.0786 . 7,307.8600
9) 0.968 x 6.21 =
A. 601.12800 B. 60.11280 C. 0.60113 .6.01128
10) 2.872x0.58 =
A. 1.66576 B. 16.65760 C. 0.16658 . 166.57600
11) 0.627x9.9=
A. 0.6207 B. 6.2073 C. 620.7300 . 62.0730
12) 1.316x0.39=
A.0.51324 B. 0.00513 C. 51.32400 . 0.05132
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Estimating Multiplication w/Decimals Name: Answer Key
Use the decimal placement to estimate the product. Answers
1) 6.214x04=
A. 2.4856 B. 24.8560 C. 2485600 10,2486 .
>, D
2) 0.66x6.3=
A. 41.580 B. 415.800 C.0.042 .4.158 3 A
3) 53x2617= 4. A
A.13.8701 B. 1,387.0100 C. 1.3870 . 138.7010
5. C
4) 238x04= C
A.0.952 B. 95.200 C.0.095 .0.010 6.
7 A
5) 0.854x5.35=
A. 0.45689 B. 45.68900 C. 4.56890 . 0.04569 8 C
6) 3.65x0.591= oo D
A. 0.02157 B. 0.21572 C. 215715 . 21.57150
0. A
7) 419x2873= B
A. 12.03787 B. 1.20379 C. 0.12038 . 120.37870 1.
2. A
8) 7.457x9.8=
A. 0.7308 B. 7.3079 C. 73.0786 . 7,307.8600
9) 0.968x6.21=
A. 601.12800 B. 60.11280 C. 0.60113 . 6.01128
10) 2.872x0.58=
A. 1.66576 B. 16.65760 C. 0.16658 . 166.57600
11) 0.627x9.9=
A. 0.6207 B. 6.2073 C. 620.7300 . 62.0730
12) 1.316x0.39=
A. 0.51324 B. 0.00513 C. 51.32400 . 0.05132
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